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Question Id : 92090622066 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Question Numbers : (1 to 5)
Question Label : Comprehension

Mobile phones 1n India are ubiquitous — over a billion subseribers. They serve as
touch points for multiple needs. Consequently attempts to get people to part with
their phone number, often through dubious means, are common. OUne such example
158 to get customers to share their phone number to bill retail purchases. It's often
done by linking it to the bhilling system even when it serves no purpose 1n
concluding a transaction. Times of India reported that this method of violating
personal data privacy may soon end as the consumer affairs ministry 1s expected to
185ue an advisory to stop it.

It's a much-needed move. But it doesn't solve the core problem. Invasion of data
privacy 1s not limited to consumer transactions. It's far wider in scope. The only
way to check 1t 18 to legislate a comprehensive personal data protection law. Absent
that, anv solution 1s at best a piecemeal effort. India has lagged 1n this aspect. As a
result, the explosion of digital activity has been accompanied by a surge in
extracting personal data without consent.

Government of India bepan the ongoing process of enacting a personal data
protection law in 2019. It's gone through many iterations. The bill needs to be
introduced in the next parliament session. India's data protection framework
should strongly emphasise two princaples, data mimmization and purpose
limitation. The former 15 the first hine of defence against abuse as data collection
needs to be lmited to just what's relevant to conelude a transaction. The principle
of purpose limitation then seeks to ensure that data collected 18 used for only the
stated purpose. While the intent of the consumer affairs ministry 1s positive, it
alone can't ensure Indian's data privaeyv.

Sub questions

Question Number : 1 Question Id : 92090622067 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Find out the meaming of the term ‘ubiquitous from the options given below:

(1)  Formal pledge or promise (2} Spend too hittle
(3)  Being the best (1) Found everywhere
Options :

92090687201. 1
92090687202. 2
92090687203. 3
92090687204. 4
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Question Number : 2 Question Id : 92090622068 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Antonyvm of the term ‘Dubious’;

(1) Doubtful (2) Hesitating
(3} Rehable (4) Valuable

Options :

92090687205. 1
92090687206. 2
92090687207. 3
92090687208. 4

Question Number : 3 Question Id : 92090622069 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(;iven below are two statements -

Statement | : Invasion of data privacy 18 not limited to consumer
transactions.
Statement I : The only way to check it 18 to lepislate a comprehensive

personal data protection law.

In the light of the above statements, choose the correct answer from the options
given helow

(1) Both Statement | and Statement 1l are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement | 1s true but Statement 1l 1s incorrect

(1) Statement I 1s false but Statement 11 1s correct

Options :

92090687209. 1
92090687210. 2
92090687211. 3
92090687212. 4

Question Number : 4 Question Id : 92090622070 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

(orrect Marks : 4 Wrano Marks ¢ 1
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The Times of India reported that this method of violating personal data privacy

may soon end as the consumer affairs mimistry 1s expected to 18sue an to
stop it.
(1) order (2) decision
(3} adwvisory (4) ordinance
Options :

92090687213. 1
92090687214. 2
92090687215. 3
92090687216. 4

Question Number : 5 Question Id : 92090622071 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
According to this paragraph, who can't alone ensure India's data privacy?

(1}  Mimistry of Information and technology
(2] Education Ministry
(3) Consumer affairs mimstry

(4)  Labour mumstry

Options :

92090687217. 1
92090687218. 2
92090687219. 3
92090687220. 4

Question Id : 92090622066 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Question Numbers : (1 to 5)
Question Label : Comprehension
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Mobile phones 1n India are ubiquitous — over a billion subseribers. They serve as
touch points for multiple needs. Consequently attempts to get people to part wath
their phone number, often through dubious means, are common. OUne such example
18 to get customers to share their phone number to bill retail purchases. It's often
done bv linking it to the billing system even when it serves no purpose 1in
concluding a transaction. Times of India reported that this method of violating
personal data privacy may soon end as the consumer affairs ministry 1s expected to
185ue an advisory to stop it.

It's a much-needed move. But it doesn’t solve the core problem. Invasion of data
privacy 1s not limited to consumer transactions. It's far wider 1n scope. The only
way to check 1t 15 to legislate a comprehensive personal data protection law. Absent
that, any solution 1s at best a piecemeal effort. India has lagged 1in this aspect. As a
result, the explosion of digital activity has been accompanied by a surge 1n
extracting personal data without consent.

Government of India began the ongoing process of enacting a personal data
protection law in 2019. It's gone through many iterations. The bill needs to be
introduced in the next parhament session. India's data protection framework
should strongly emphasise two principles, data minimization and purpose
limitation. The former 18 the first line of defence against abuse as data collection
needs to be limited to just what's relevant to conclude a transaction. The principle
of purpose limitation then seeks to ensure that data collected 15 used for only the
stated purpose. While the intent of the consumer affairs ministry i1s positive, it
alone can't ensure Indian's data privaeyv.

Sub questions

Question Number : 1 Question Id : 92090622067 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find out the meaning of the term "ubiquitous’ from the options given helow:

(1) Formal pledge or promise (2} Spend too little
(3)  Being the best (1) Found everyvwhere
Options :

92090687201. 1
92090687202. 2
92090687203. 3
92090687204. 4

Question Number : 2 Question Id : 92090622068 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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Antonym of the term ‘Dubious’;

(1) Doubtful (2) Hesitating
(3} Rehable (4) Valuable
Options :

92090687205. 1
92090687206. 2
92090687207. 3
92090687208. 4

Question Number : 3 Question Id : 92090622069 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(;iven below are two statements -

Statement | : Invasion of data privacy 18 not limited teo consumer
transactions.
Statement Il : The only way to check 1t 15 to legislate a comprehensive

personal data protection law.

In the light of the above statements, choose the correct answer from the options
given below

(1)

Both Statement | and Statement 1l are correct

(2) Both Statement | and Statement Il are incorrect

(3} Statement [ 1s true but Statement 1 15 incorrect

(4} Statement | 15 false but Statement 11 1s correct
Options :

92090687209. 1
92090687210. 2
92090687211. 3
92090687212. 4

Question Number : 4 Question Id : 92090622070 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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The Times of India reported that this method of violating personal data privacy

may soon end as the consumer affairs ministry 1s expected to 1ssue an to
stop it.
(1) order (2) decision
(3} adwvisory (4) ordinance
Options :

92090687213. 1
92090687214. 2
92090687215. 3
92090687216. 4

Question Number : 5§ Question Id : 92090622071 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
According to this paragraph, who can't alone ensure India’s data privacy?

(1}  Mimistry of Information and technology
(2] Education Ministry
(3) Consumer affairs mimstry

(4)  Labour mumstry

Options :

92090687217. 1
92090687218. 2
92090687219. 3
92090687220. 4

Sub-Section Number : 2
Sub-Section Id : 920906708
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090622072 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Identify the correct active voice for the sentence given below.

Our moving into the new flat had been completed before evening.

(1)  We had completed our moving into the new flat before evening.

(2)  We have completed our moving into the new flat before evening.

(3  We completed our moving into the new flat before evening.

(4}  We completed our moving into the new flat before evening.
Options :

92090687221. 1
92090687222. 2
92090687223. 3
92090687224. 4

Question Number : 6 Question Id : 92090622072 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ldentify the correct active voice for the sentence given below.

Our moving into the new flat had been completed before evening.

(1} We had completed our moving into the new tlat before evening.

(2) We have completed our moving into the new flat before evening.

(3) We completed our moving into the new flat before evening.

(4) We completed our moving into the new flat before evening.
Options :

92090687221. 1
92090687222. 2
92090687223. 3
92090687224. 4

Question Number : 7 Question Id : 92090622073 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(“hoose the correct order of PQRS set to complete the paragraph:

He asked her, “What are they?”

R E W E 0w R R E R R R E RS E R R E R R R R E R E R E R E R E R R R R RERE R R R R R RE R R R ERERE R R REERE DR R DR R R R R
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otill smiling, she answered, “Inside 1t.” (Place Walk)

FP: He asked, "Do vou sleep on them™

(): She said with a smile, “"No. they re just for decoration.”
R: She replied, "Two small pallows.”

=: He pointed at the bed and asked, “Where do you sleep?

(1) PQSR (2) QPRS
(3) RPQS (4) SRPQ

Options :

92090687225. 1
92090687226. 2
92090687227. 3
92090687228. 4

Question Number : 7 Question Id : 92090622073 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(Choose the correct order of PQRS set to complete the paragraph:

He asked her, “What are they?”

o e e E R R R E R R E R E e E i R o R R R R E e E R E R E R EEEEREEER R E R E R R R R R EERE R ERER R ERE R R E R R R R R B R

e B s cEm B e cEm B e B e e e B e ol B s ol e e B B mE R B mE cEE B s EE B GEe e e e B e ol e sl ol e s B mE e e mE Em e e Em o e R B e R R e ol B ER ER sl e Em e e B B EEe e e e e sl e e sl e e sl e e ol EE ERe e B B che EEe e sEm EEe e e R e o e e sl e e el

R OE e EOE R EEH R R EEH R EEEE R EEEEEEE S EEH R E R EE R EEEE R EEEE R E R EEH B EE R EE R E R R R RE R R R R R R R R R R R R R R R R R R R R R

ol o s Em B e Em e R el e ol s ol e e B EE R EE Em B M Em B e R B e R B e i B e ol mEs i B mE ol BN mE cEm B sEe cEm B e B Ew e B R e B ERe e e R Em B e e e e e B e o e e Gl e B el B e e e B e e B e B e e e e e B e e B e el B e e

Still smiling, she answered, “Inside 1t.” (Place Walk)

P: He asked, "Do vou sleep on them?

Q): She said with a smle, “"No, they're just for decoration.”
R: She replied, “Two small pillows.™

S: He pointed at the bed and asked, “Where do you sleep?
(1) PQSR (2) QPRS

(3) RPQS (4) SRPQ

Options :

92090687225. 1
92090687226. 2
92090687227. 3
92090687228. 4

Question Number : 8 Question Id : 92090622074 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correct indirect speech form of the following sentence:

He said to me. “What 1s vour name?

(1} He ordered me to tell my name. (2} He asked me what my name 1s.

() He asked me what my name was. (4) [ was asked to tell my name by him.

Options :

92090687229. 1
92090687230. 2
92090687231. 3
92090687232. 4
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Question Number : 8 Question Id : 92090622074 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct indirect speech form of the following sentence:
He said to me, "What 15 vour name?”

(1} He ordered me to tell my name. (2} He asked me what my name 1s.

(3) He asked me what my name was. (4) [ was asked to tell my name by him.

Options :

92090687229. 1
92090687230. 2
92090687231. 3
92090687232. 4

Question Number : 9 Question Id : 92090622075 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Find out which part of the following sentence has an error:

(1) MNone of the students in the elass (2) were able to

(3) understand the problem (1) no error

Options :

92090687233. 1
92090687234. 2
92090687235. 3
92090687236. 4

Question Number : 9 Question Id : 92090622075 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I'ind out which part of the following sentence has an error:

(1) None of the students in the class  (2) were able to

(3) understand the problem (4) no error

Options :
02090687233. 1
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92090687234. 2
92090687235. 3
92090687236. 4

Question Number : 10 Question Id : 92090622076 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sentence:

(1) He shudders at the memory and wakes up dazed.

(2)  He shudders with the memory and wakes up dazed.
(3) He shudders over the memory and wakes up dazed.

(4)  He shudders in the memory and wakes up dazed.

Options :

92090687237. 1
92090687238. 2
92090687239. 3
92090687240. 4

Question Number : 10 Question Id : 92090622076 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sentence:

(1) He shudders at the memory and wakes up dazed.
(2)  He shudders with the memory and wakes up dazed.
(F) He shudders over the memory and wakes up dazed.

(4) He shudders in the memory and wakes up dazed.

Options :

92090687237. 1
92090687238. 2
92090687239. 3
92090687240. 4

Question Number : 11 Question Id : 92090622077 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Where did Lord Buddha breathe his last?

(1) Bodh Gava (2} Sarnath
(3)  Varanasi (4} Kushinagar
Options :

92090687241. 1
92090687242. 2
92090687243. 3
92090687244. 4

Question Number : 11 Question Id : 92090622077 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Where did Lord Buddha breathe his last?

(1) Bodh Gaya (2} Sarnath
(3) Varanasi (1) Kushinagar
Options :

92090687241. 1
92090687242. 2
92090687243. 3
92090687244. 4

Question Number : 12 Question Id : 92090622078 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who 15 supposed to be the custodian of the Indian constitution?

(1) President of India (2) Law Minister
(3)  Chief Justice of India (4) We, the people of India
Options :

92090687245. 1
92090687246. 2
92090687247. 3
92090687248. 4

Question Number : 12 Question Id : 92090622078 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
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Correct Marks : 4 Wrong Marks : 1
Who 18 supposed to be the custodian of the Indian constitution?
(1) President of India (2} Law Minister

(3)  Chief Justice of India (4) We, the people of India

Options :

92090687245. 1
92090687246. 2
92090687247. 3
92090687248. 4

Question Number : 13 Question Id : 92090622079 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Which of the following are essential qualifications for appointment as a Governor?
(A) He must not be a member of either house of Parliament.
(B) He should be a domaicile of the state to which he 18 being appointed.
() He should be a citizen of India.
(1) He must have complete the age of 35 yvears.

(Choose the correct answer from the options given below:

(1)  A.BandDonly (2) A, CandD only
(3) B.CandD only (4) A and C only
Options :

92090687249. 1
92090687250. 2
92090687251. 3
92090687252. 4

Question Number : 13 Question Id : 92090622079 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Whaich of the following are essential qualifications for appointment as a Governor?
(A) He must not be a member of either house of Parliament.
(B) He should be a domiecile of the state to which he 15 being appointed.
(C) He should be a citizen of India.
(I})  He must have complete the age of 35 vears.

Choose the correct answer from the options given below:

(1) A, Band D only (2) A, C and D only
(3) B.CandD only (4) Aand C only
Options :

92090687249. 1
92090687250. 2
92090687251. 3
92090687252. 4

Question Number : 14 Question Id : 92090622080 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
For which of the tollowing reasons 15 ozone layer important for living being.

(1) It serves as a source of oxygen by decomposing air.
(2) It maintains the nitrogen evele on earth.
(3) 1t provides protections from excessive ultra violet ravs of the sun.

(4) 1t maintains the temperature of the earth.

Options :

92090687253. 1
92090687254. 2
92090687255. 3
92090687256. 4

Question Number : 14 Question Id : 92090622080 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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For which of the following reasons 1s ozone laver important for living being.

(1) It serves as a source of oxvgen by decomposing air.
(2) It maintains the mitrogen evele on earth.
() It provides protections from excessive ultra violet rays of the sun.

(4) It maintains the temperature of the earth.

Options :

92090687253. 1
92090687254. 2
92090687255. 3
92090687256. 4

Question Number : 15 Question Id : 92090622081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which Indian state India's first pure green hydrogrn plant has been

commissioned?

(1) Crugarat (2} Karnataka
(3)  Assam (4) Maharashtra
Options :

92090687257. 1
92090687258. 2
92090687259. 3
92090687260. 4

Question Number : 15 Question Id : 92090622081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

In which Indian state India's first pure green hydrogrn plant has been

commissioned?

(1) Crugarat (2} Karnataka
(3)  Assam (4) Maharashtra
Options :

92090687257. 1
92090687258. 2
92090687259. 3
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92090687260. 4

Question Number : 16 Question Id : 92090622082 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If A% B means A 1s the wife of B ; A — B means A 1s the brother B; A + B means A
18 the father of B while A x B means A 15 the mother of B. Which of the following
shows that M 15 the maternal grandmother of T

(1) MxN-8%T (2) MxS5S-N%T
3) MxN%S+T (4) MxNx5%T
Options :

92090687261. 1
92090687262. 2
92090687263. 3
92090687264. 4

Question Number : 16 Question Id : 92090622082 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If A% B means A 1s the wife of B : A — B means A 1s the brother B; A + B means A
15 the father of B while A x B means A 15 the mother of B. Which of the following
shows that M 1s the maternal grandmother of T

(1) MxN-5%T (2) MxS-N%T
() MxN%S+T (4) MxNx5%T
Options :

92090687261. 1
92090687262 2
92090687263. 3
92090687264. 4

Question Number : 17 Question Id : 92090622083 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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Find out the missing term from the following options:

7, 425, 600, 825, 1100, 1425

(1) 00 (2} 220
(3) 250 (4) 245

Options :

92090687265. 1
92090687266. 2
92090687267. 3
92090687268. 4

Question Number : 17 Question Id : 92090622083 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find out the missing term from the following options:

?. 425, 600, 825, 1100, 1425

(1) S00 (2) 225
() 250 (4) 245

Options :

92090687265. 1
92090687266. 2
92090687267. 3
92090687268. 4

Question Number : 18 Question Id : 92090622084 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A1s 30 km to the East of B. B moves 40 km South then 20 km West. It then moves
50 km North and then 50 km East. Now A 1s:

(1) 20 km East of B (2) 10 km North of B
(3} 10 km South of B (4) 20 km North of B
Options :

92090687269. 1
92090687270. 2

92090687271. 3
0200NARTITY 4

-
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Question Number : 18 Question Id : 92090622084 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A1s 30 km to the East of B. B moves 40 km South then 20 km West. It then moves
50 km North and then 50 km East. Now A 1s:

(1) 20 km East of B (2) 10 km North of B
(3} 10 km South of B (1) 20 km Northof B

Options :

92090687269. 1
92090687270. 2
92090687271. 3
92090687272. 4

Question Number : 19 Question Id : 92090622085 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DAZE 18 written as 41265 1n a certain code. How will BOY bhe wnritten 1n the same
code?

(1) 21526 (2) 21425
() 21525 (4) 22625
Options :

92090687273. 1
92090687274. 2
920900687275. 3
92090687276. 4

Question Number : 19 Question Id : 92090622085 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

DAZE 158 written as 41265 in a certain code. How will BOY be wrtten in the same
code?

(1) 21526 (2) 21425
(3) 21525 (4) 22525

fintfinng »
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92090687273. 1
92090687274. 2
92090687275. 3
92090687276. 4

Question Number : 20 Question Id : 92090622086 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If ‘Mo researchers are scholoarship holoders’ and ‘some students are scholoarship
holders. It implies:

A Some students are not researchers.

B: No students are researchers.

(1) A only (2) Bonly
(3) DBoth Aand B (4) Neithen A and B
Options :

92090687277. 1
92090687278. 2
92090687279. 3
92090687280. 4

Question Number : 20 Question Id : 92090622086 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If ‘MNo researchers are scholeoarship holoders’ and ‘some students are scholoarship
holders. It imphlies:

A Some students are not researchers.

B: No students are researchers.

(1) A only (2} B only
(3) DBoth A and B (4) Neithen A and B
Options :

92090687277. 1
92090687278. 2
92090687279. 3
92090687280. 4
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Question Number : 21 Question Id : 92090622087 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If radius of a cyelinder 15 inereased by 10%, while height remains unchanged. What
will be the effect on 1its volume:

(1) 21% 1increase (2) 21% decrease
() 11% mnerease (4) 11% decrease
Options :

92090687281. 1
92090687282. 2
92090687283. 3
92090687284. 4

Question Number : 21 Question Id : 92090622087 Question Type : MCQ Option Shuttling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

If radius of a cyvelinder 15 inecreased by 10%, while height remains unchanged. What
will be the effect on 1ts volume:

(1) 21% increase (2) 21% decrease
() 11% merease (4) 11% decrease
Options :

92090687281. 1
92090687282. 2
920906872383. 3
92090687284. 4

Question Number : 22 Question Id : 92090622088 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A train with certains speed passes a standing man in 6 seconds and 210 m long plat
torm 1n 16 seconds. Then speed of the train 1s:

(1) 26 m/s (2) 62 m/s
() 12 mv/s (4) 21 m/s
Options :

92090687285. 1
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92090687286. 2
92090687287. 3
92090687288. 4

Question Number : 22 Question Id : 92090622088 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A train with certains speed passes a standing man in 6 seconds and 210 m long plat
form in 16 seconds. Then speed of the train 1s:

(1) 26 m/s (2) 62 m/s
() 12 mvs (4) 21 m/s
Options :

920906872385. 1
92090687286. 2
92090687287. 3
920906872838. 4

Question Number : 23 Question Id : 92090622089 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A bag contains 1 red, 3 green. 2 blue and 4 yellow balls. If a single ball 18 chosen at
random from the bhag, then what is the probability that it 1s vellow or green?

3 & o

1 it oy L

) 1) () 11

3 |

3 - 4y —

@) 10 ST
Options :

92090687289. 1
92090687290. 2
92090687291. 3
92090687292. 4

Question Number : 23 Question Id : 92090622089 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A bag contains 1 red, 3 green. 2 blue and 4 yvellow balls. If a single ball 18 chosen at
random from the bag, then what is the probability that it 1= vellow or green?

3 7
et ) Ak

) 10 () (]
| 9 o K
(3) 0 (1) T

Options :

92090687289. 1
92090687290. 2
92090687291. 3
92090687292. 4

Question Number : 24 Question Id : 92090622090 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

A saum 18 to be distributed among 4 persons in the proportion of 3:3:2:5. 1f second
person gets T500 more than the thired person them what 18 the share of the fourth
person

(1) a0 (2) 1,500
(3) x 2,500 (4) 3,500
Options :

92090687293. 1
92090687294. 2
92090687295. 3
92090687296. 4

Question Number : 24 Question Id : 92090622090 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A sum 15 to be distributed among 4 persons in the proportion of 3:3:2:5. If second
person gets I500 more than the thired person them what 15 the share of the fourth
person

(1) 500 (2) 1,500

(3 2,600 (4) 3,500
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Options :

92090687293. 1
92090687294. 2
92090687295. 3
92090687296. 4

Question Number : 25 Question Id : 92090622091 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Two pipes A and B ean fill a tank 1n 18h and 12h respectively. If both the pipes are
opened simultaneously, then how much time will be taken to fill the tank

(1) 6 2 h (2) & = h
5 5
v 5 ]
() i —h (d) T —h
4 3
Options :

92090687297. 1
92090687298. 2
92090687299. 3
92090687300. 4

Question Number : 25 Question Id : 92090622091 Question Type : MCQ Option Shuftfling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two pipes A and B ean fll a tank 1in 18h and 12h respectively. If both the pipes are
opened simultaneously, then how much time will be taken to fill the tank

(1) 6 — h (2) & = h
5 5
. /e G | 5
(3) T —h (4) 7 - h
4 3
Options :

92090687297. 1
92090687298. 2
92090687299. 3
92090687300. 4
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Part B: Environmental Sciences

Section Id : 920906438
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300

Enable Mark as Answered Mark for Review and Clear

Response : -
Maximum Instruction Time : 0
Sub-Section Number : |
Sub-Section Id : 920906709
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090622092 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

The book “The Ages of Gala — A biography of our hiving Earth (1988)" was written by

(1) KE.5. Rowland

(2y  Mario Moling

(3) James E. Lovelock

(4) William Golding
Options :
92090687301. 1
92090687302. 2

92090687303. 3
92090687304. 4

Question Number : 26 Question Id : 92090622092 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

T ol 310 11T — U AIAT®] 3T 3 fifde oY (1988)° AH® Ydd & 0@® $i- o7

(1) .09 03 (2) W Hife
(3) O g. AddlP (4) faferom Mg

-
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Options :

92090687301. 1
92090687302. 2
92090687303. 3
92090687304. 4

Question Number : 27 Question Id : 92090622093 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which among the following 18 biggest anthropogenic source of atmospheric methane?

(1) unergy production/use
(2) Animal wastes
(3) L.and fills

(4)  Domestic sewage

Options :

92090687305. 1
92090687306. 2
92090687307. 3
92090687308. 4

Question Number : 27 Question Id : 92090622093 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrifehd | @ S agHESd Y4 &1 AHe-9- 91d 87

(1) el Idrgd Iud (2) =] g
(3)  HHWRU (4) BT Heold
Options :

92090687305. 1
92090687306. 2
92090687307. 3
92090687308. 4

Question Number : 28 Question Id : 92090622094 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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What 18 the S1:0 ratio of amphiboles?

(1) 1:3 (Z2) 1:4
(3) 4:11 (4) 2:5
Options :

92090687309. 1
92090687310. 2
92090687311. 3
92090687312. 4

Question Number : 28 Question Id : 92090622094 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UfAFETd &1 Si:0 Hurd fda-1 giar g7

(1) 1:3 2y 1:4
(3) 411 4 2:5
Options :

92090687309. 1
92090687310. 2
92090687311. 3
92090687312. 4

Question Number : 29 Question Id : 92090622095 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following 1s the most recent epoch on the geological time scale?

(1) Phocene () Miocene
(3) (ligocene (4) Eocene
Options :

92090687313. 1
92090687314. 2
92090687315. 3
92090687316. 4

Question Number : 29 Question Id : 92090622095 Question Type : MCQ Option Shuffling : No Is

NDunectinn Mandatnrv * Nn Calenlatar * Nane Reennnee Time * N A Think Time * N A Minimnm
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Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

FofaiRaa ¥ 9 yasi=e gug Arasd el siyArd o i 91 82

(1)  SifcdIeA (2) AL
(3)  SIaA (4) 3G
Options :

92090687313. 1
92090687314. 2
92090687315. 3
92090687316. 4

Question Number : 30 Question Id : 92090622096 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

A depth below which the shells dissalve in the deep sea water 1s called—

(A) Carbonate dissolution depth
(B) Carbonate precipitation depth
({7) Carbonate deposition depth
(D)  Carbonate compensation depth

Options :

92090687317. 1
92090687318. 2
92090687319. 3
92090687320. 4

Question Number : 30 Question Id : 92090622096 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dg TS ford Hid &dd g T oia # fadli=1 81 Sird1 8, 38 &1 &gl §ildl 82

(1)  PEAe G0 Tes (2) HIFHT U (I(GEU) TES
(3) @EAe [ s (4) SDIE-E YiagR TETS
Options :
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92090687317. 1
92090687318. 2
92090687319. 3
92090687320. 4

Question Number : 31 Question Id : 92090622097 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

(z1ven below are two statements ;

Statement 1 : The crustal thickness varies between =7 km under oceans and —7()

km under high mountains,

Statement I1 :  Felsic rocks are tyvpical of the oeeanic crust, whereas mafic rocks are

typical of the continental crust.

In the hight of the above Statements, choose the correet answer from the options given
below :

(1)
(2)
(3)
(4)

Both Statement | and Statement 1l are true
Both Statement | and Statement 1l are false
Statement 1 1s true but statement 11 1s false

Statement | 1s false but statement 11 15 true

Options :

92090687321. 1
92090687322. 2
92090687323. 3
92090687324. 4

Question Number : 31 Question Id : 92090622097 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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HYF | :  HOU! B R@dr H fHear urdl 9l 98 g & FA" ~7 L iR Sa uerSl &
A ~70 fEH & d= A T

HYT 1. ThicH® Ad HeHITRIY Ud & ffHengfors 1o € o9 f Aftvs Qe mergidly wRd
& URES 107 §

JUWRIGd HYA & 3fclld H, Ad S0 M [db eyl H 9 Ugl ITd! 99 i

(1)  HYF | 3R EH T 8

(2)  HYFT SR EH A B

(3) BYF | T B, A FYF 1 3 B

(4) HYTEIE UfFT FYT 1 Td e

Options :

92090687321. 1
92090687322. 2
92090687323. 3
92090687324. 4

Question Number : 32 Question Id : 92090622098 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match Last 1 with Last 11 :

Last 1 Last 11
(A) Ox-bow lake (I Wind
(B) Playa (II}) Glacer
() Cirgue (11I) River
(D) Dunes (IV) Lake

(Choose the correct answer from the options given below:

(1) (A)-(11), (B)-(11), (C)-(IV), (D)-(1)
(2) (AL, (B)-(IV), (C)-(11), (D)-(I)
(3)  (A)-(IL), (B)-(ILI), (C)-(IV), (D)-(1)
(4) (A1), (B)}-(IV), (C)-(111), (D)-(I)

Options :
92090687325. 1

@
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92090687326. 2
92090687327. 3
92090687328. 4

Question Number : 32 Question Id : 92090622098 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Gl | & °1Y g1 || 61 WA DI

- -
(A)  SHidHd] i (IR GG
(B) Tl () TeHe
(€) b (A
(D) ST (¥d &1 <l (Iv) id
4 28 Y fasedl ¥ ¥ Hel 3 g0

(1) (A)-(11), (B)-(), (C)-(IV), (D)-(I)
(2) (A=), (B)-(IV), (C)-(IN), (D)-(1)
(3y  (A)-(), (B)-(11), (C)-(IV), (D}-(1)
(4)  (A)-(I), (B)-(IV), (C)-(11), (D)-(1)

Options :

92090687325. 1
92090687326. 2
92090687327. 3
92090687328. 4

Question Number : 33 Question Id : 92090622099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Which among the following weather to provide Mg®t 1ons to groundwater?
(A)  Amphibole

(B Biotate

(") Plagioclase

(1) Dolomite

(K) Caleite

(Choose the correct answer from the options given below :

(1)  (A), (B), (C), (D) only (2} (A), (B), (C) only
(3 (A, (B), (D), (E) only (4)  (A). (B), (D) only
Options :

92090687329. 1
92090687330. 2
92090687331. 3
92090687332. 4

Question Number : 33 Question Id : 92090622099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FrofeiEd 7 9 &1 3Uga & 918 HIHSd &1 Mg® ™ 319 UaE &l 82

" [<u U f9aul ¥ ¥ Hel 3R &1 gHU :
(1) &dd A, B, C, D

(2) Hdd A, B, C

(3) dd A B D, E

(4) dd A, B D

@
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Options :

92090687329. 1
92090687330. 2
92090687331. 3
92090687332. 4

Question Number : 34 Question Id : 92090622100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

(z;iven below are two statements : One 18 labelled as Assertion (A) and the other is

labelled as Reason (R) :

Assertion (A): The average composition of atmosphere near the surface of earth is
given on dry basis and in terms of mixing ratio (weight percent
basis).

Reasons (KH) : Water content in atmosphere near the surface of the earth 1s variable
with respect to location, time and the concentration of gases In
volumetric units (molesflitre) varies with temperature and pressure
conditions.

In the hght of the above Statements. choose the correct anawer from the options given
below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 18 NOT the correct explanation of (A)
(3) (A) 18 true but (R) 1s false
(4) (A) 1s false but (R) 15 true

Options :

92090687333. 1
92090687334. 2
92090687335. 3
92090687336. 4

Question Number : 34 Question Id : 92090622100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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e 3fHEYUT A 3R TP R TAHE 2l HUA fed 1 g

IHPYTA - Gl & dd S THIY GgHS DI 8T ST Yohdl AR 0T S (UR
YR & YR W 2 9Tl g

HRUIR : digHed ¥ gl & Uy & Y §d & AF ™H, $1d & S8R ufiafdd gl
2 3R agafis sEegl (ie/efiey) § Y &1 9rEu ausy SR 219 @1 g9
& TR -4 gidt 2

IUerd Y-l & i |, g 38 A Readi § 9 gl I g

(1) A 3RRTFIFel g 3R, A B Uel ST &

(2) ASRREH Fel g < R A B el AR Tl &

3) AWRIE [PgRIEAE
(4) ATddE fPgruEle

Options :

92090687333. 1
92090687334. 2
920906873335. 3
92090687336. 4

Question Number : 35 Question Id : 92090622101 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

El Nino and La Nina phenomena are observed in—

(1) Pacific Ocean (2) Indian Ocean
(3) Mediterramian Sea (4) Atlantic Ocean
Options :

92090687337. 1
92090687338. 2
92090687339. 3
92090687340. 4

Question Number : 35 Question Id : 92090622101 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Tt [T 3R @ A ufvae=nt Fafafad 7 9 fead Biga o @l g7

(1) U HERR (2) fe<Hg™R
(3) HHIOPHEY 9R (4) S3Tdied HERITR
Options :

92090687337. 1
92090687338. 2
92090687339. 3
92090687340. 4

Question Number : 36 Question Id : 92090622102 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

scaling may lead to corrosion and damage of boilers or water cooling systems. Which
of the following compound 15 insoluble and forms scale?

(1) Barium Sulfate (2) Caleium Chloride
(3) Sodium Chloride (4) Sodium Nitrate
Options :

92090687341. 1
92090687342. 2
92090687343. 3
92090687344. 4

Question Number : 36 Question Id : 92090622102 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Yleth- & URUMH WY HYD] 1 Fd w2iid= wone o fseso a7 &fd g1 g@dl & Ru A 9
&1 1 A 313y § 3R 399 Yo o1 (AT il 87

(1)  aga T@be (2) HicTH TS
(3) HISTH FRIEZS (4) HISYH A13ce
Options :

92090687341. 1
92090687342. 2
92090687343. 3
92090687344. 4
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Question Number : 37 Question Id : 92090622103 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements : One 1s labelled as Assertion (A) and the other is
labelled as Heason (R) ;

Assertion (A) : Nuclear fission occurs rapidly 1in atomic bomb explosion and occur
relatively slowly 1in a nuclear reactor.

Reasons (R):  Nuclear reaction of sphitting a massive nucleus into less stable and

less massive nuclel with release of energy 1s nuclear fission,

In the light of the above Statements, choose the correct answer from the options given
below -

(1) Both (A) and (R) are true and (R) 15 the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(3) (A) 18 true but (R) 1s false

(4) (A) 18 false but (K) 15 true

Options :

92090687345. 1
92090687346. 2
92090687347. 3
92090687348. 4

Question Number : 37 Question Id : 92090622103 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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A 3ifHHUT A 3R TP R AHE 2l Hud RO &

AFYT A - WRHITGS aH fawsie § Afveiy fAEe d6l § 81 8 ok Aifusiy sififdar
H g fags= smendd He a3 gar g

HRUR : [l RAB B B HH WS 3R HUFHd Y RAH™ Hliadl H FHal

JUa HYHl & 1did H, 19 58 1 faeadl 7 9 3l I A
(1)  ASRRTHA el € dUIR, A I el 2T &

(2) ASRRTH Ul g, [P R AP HEI BN T B

(3) AWgIE fPgrIdE

(4) ATEAE, [FgRI T

Options :

92090687345. 1
92090687346. 2
92090687347. 3
92090687348. 4

Question Number : 38 Question Id : 92090622104 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(ziven below are two statements : One 15 labelled as Assertion (A) and the other is
labelled as Reason (R) :

Assertion (A): Type B metal ions form more stable complexes compared to Tyvpe A
metal 1ons.

Reasons (R): High electro-negativity (in relative terms) of metal and low
electro-negativity of the legand donor atom would be consistent with
stabihity of a complex with Type B metal 1on.

In the light of the above Statements, choose the most appropriate answer from the
options given below:

(1) Both (A) and (R) are correct and (R) 158 the correct explanation of (A)

(2) Both (A) and (I®) are correct but (R) 18 NO'T' the correct explanation of (A)

(3) (A) 18 correct but (R) 18 not correct

(4) (A) 15 not correct but (R) 158 correct
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Options :

92090687349. 1
92090687350. 2
92090687351. 3
92090687352. 4

Question Number : 38 Question Id : 92090622104 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 3HfHHYT A 3R db R ATHS &l HyF 20 T &

HUBYT A : UREY A tifcdd AT 1 ga-1 d 8 UEY Hifes S+ Sifeles Trs iy &
fmfor #ed €

HRUIR : gl Bt I= 339 HUTHS T (AUiEE T4 #) 3R Jausd a1l YIH] $i
A fdegd HUTHG URFY B Ylfd® 34 & 9y & WIild & 3%y

Sulad Syl & fdie |, A &8 T fasedi J 9 el 3w g

(1) A S3RRTHI Tel ¢ dUTR A Sl Jol AT &

(2) ASRREH Tl g, fPgR A DI Uel A T8l &

3) AYelE [PgRrAdE

(4) ATade fFgRrUEE

Options :

92090687349. 1
92090687350. 2
92090687351. 3
92090687352 4

Question Number : 39 Question Id : 92090622105 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following species 18 NOT a proton acceptor 1n natural waters”

(1) OH (Z2) HCO,
(3) CO (4) Hs0O*
Options :

-
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92090687353. 1
92090687354. 2
92090687355. 3
92090687356. 4

Question Number : 39 Question Id : 92090622105 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fofafad 3 4 &F O oifd wiefas sa & Wel mig 78 el &2

(1) OH (2) HCOx
(3) CO> (4) H.0*

Options :

92090687353.
92090687354.
92090687355.
92090687356.

e U T N

Question Number : 40 Question Id : 92090622106 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What will be the concentration of nitrogen (N) in a 31 ppm solution of nitrate?

(1) 31 ppm (2) 7 ppm
(3) 14 ppm (4) 28 ppm
Options :

92090687357. 1
92090687358. 2
92090687359. 3
92090687360. 4

Question Number : 40 Question Id : 92090622106 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-
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31 ppm A3ce & a9 # AT3SreH (N) 1 Hi=edl [dha g7

(1) 31 ppm (£) 7 ppm
(3) 14 ppm (4) 28 ppm
Options :

92090687357. 1
92090687358. 2
92090687359. 3
92090687360. 4

Question Number : 41 Question Id : 92090622107 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Most important buffering species 1in the pH range of 4 to 8 in natural water 15

(1) CO; (2) H:z200s4
() Ha0 (4) HCO,
Options :

92090687361. 1
92090687362 2
92090687363. 3
92090687364. 4

Question Number : 41 Question Id : 92090622107 Question Type : MCQ Option Shufttling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UThTdd o 7 4 ¥ 8 B pH o1 § FaliHe Aeayul A (@ug ufaRies) Sifa &9 W g2

(1) COs* (2) H2CO03
(3) H,O* 4y HCO;
Options :

92090687361. 1
92090687362 2
92090687363. 3
92090687364. 4

-
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Question Number : 42 Question Id : 92090622108 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are so1l forming factors?
(A) Time

(B) Topography

(Cy Clhmate

(1N Organisms

(E). Parent material

Choose the correct answer from the options given below :

(1) (A}, (C) and (D)) only (2} (A), (B), (D) and (E) only
(3) (B}, (C)., (D) and (E) only (4) (A), (B), (C), (D) and (E) only
Options :

92090687365. 1
92090687366. 2
92090687367 3
92090687368. 4

Question Number : 42 Question Id : 92090622108 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HeRTP RS HaffEd d 4 99 82

A. T4

B. TR

C. viddy

D. Wilg

E. WHd Al

A9 3w e fasedi # 9 wel 3w g -

(1) HadA, C3HRD (2) PadA, B D IARE

(3) HdAB C D3RE (4) HAUA, B C, D3NE
Ontions :

-
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92090687365. 1
92090687366. 2
92090687367. 3
92090687368. 4

Question Number : 43 Question Id : 92090622109 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A planet having 300 K average surface temperature will emit maximum radiation in

(1)  Ultra violet region
(2)  Visible region

(3) Infrared region

[

4)  NMNicrowave region

Options :

92090687369. 1
92090687370. 2
92090687371. 3
92090687372. 4

Question Number : 43 Question Id : 92090622109 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

¥ 300 K U¥ d19HE did U8 |, [ 1 9 fdaer sifteay fafdvor 3= g

(1) & 8 (2) TR &7
(3) SIPRE (3dTd) & (4) &I &
Options :

92090687369. 1
92090687370. 2
92090687371. 3
92090687372. 4

Question Number : 44 Question Id : 92090622110 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

-
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When the scattering particles in the atmosphere are small compared with the
wavelength (A) of light being scattered, the scattered intensity will be proportional to

(1) A2 (2) A!
(3) A* (4) A
Options :

92090687373. 1
92090687374. 2
92090687375. 3
92090687376. 4

Question Number : 44 Question Id : 92090622110 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

w9 agHsa # uiitia o il 8 1@ uem &t aieef () F e d g ga € a

uepifotd diddr e ¥ fa O garuiias g

(1) A (2) A?

Ay A (4) A
Options :

92090687373. 1
92090687374. 2
92090687375. 3
92090687376. 4

Question Number : 45 Question Id : 92090622111 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

-
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The prophase of first meiotic division 18 divided into phases list below. Arrange the
phases 1n the order, as they oceur one after the other.

(A)  Daplotene
(BY Zvgotene
(C) Siakineses
(D)  Leototene
(E). Pachyvtene

Choose the correct answer from the options given below :

(1) (A), (C), (B), (E), (D) (2) (D), (B), (E), (A), (C)
(3)  (K), (A), (D), (B), (C) (4) (E), (B), (A), (C), (D)

Options :

92090687377. 1
92090687378. 2
92090687379. 3
92090687380. 4

Question Number : 45 Question Id : 92090622111 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gyH et favreE @t uraw FAgfifea sernsel § faved gl 81 32 U & 918 U "fed
gi- & A H afyd Sifee:

A, TS@rcH

B. WISWICH

C. Tsmprg-d

D. WEICH

E. UdidE

19 fau e fdwedi O @ 9l IR A

(1) A CBED (2) D,BEAC
(3) EAD,BC 4) EBACD

Options :
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92090687377. 1
92090687378. 2
92090687379. 3
92090687380. 4

Question Number : 46 Question Id : 92090622112 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(fiven below are two statements -

Statement 1 : While studyving the pattern of inhermtance i pea plants, Mendel
proposed the prineiples of inheritance, now known as ‘Mendel's Law
of Inheritance’.

Statement 11 :  Mendel's law of independent assortment does not hold true for the
linked genes’

In the hight of the above Statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement 1l are false

(3)  Statement I is true but statement 11 1s false

(4} Statement [ is false but statement Il 15 true

Options :

92090687381. 1
92090687382. 2
92090687383. 3
92090687384. 4

Question Number : 46 Question Id : 92090622112 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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HYF| : WX P URYl H GUTHH & UIdEY & T & §HY, Hed A TARE Herd

®HYF Il -  HEd 1 WA g g Afer (feie) siF & foe o a8l 21
I FHYI & o §, i &g 10 el § 3 9dl 3w 9T

(1) DY R FYT I S TB1 8

(2) HYT| 3R FYF I S T 8

(3) FYTITE R FgHUF AR

4) FHYITAAE, PgFY TR B

Options :

92090687381. 1
92090687382. 2
92090687383. 3
92090687384. 4

Question Number : 47 Question Id : 92090622113 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the double-helix structure of DNA two hydrogen bonds are formed between which
two bases of the opposite strands?

(1) Adenine with Guanine
(2) Adenine with Thymine
(3)  Guanine with Cytosine
(4) suanine with Thymine

Options :

902090687385. 1

92090687386. 2

92090687387. 3
92090687388. 4

Question Number : 47 Question Id : 92090622113 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Fofefad @ ¥ &= @1 faudia dgsh & smem & 7 31 vA U & fgdeferd = 7 4

gIsera a4 &1 fAnfur glar 82

(1)  ufEfA ok e (2) ufEHA SR ygitE

(3) TSI SR AEe¥A (4) TS 3R Ui
Options :

92090687385. 1
92090687386. 2
92090687387. 3
92090687388. 4

Question Number : 48 Question Id : 92090622114 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are genetic elements?
(A) Plasmid

(B) Chromosome

(C) DNA polvmerase

(D)  Transposable element

(E). Genome

Choose the correct answer from the options given below -

(1) (B (C), (1), (E) only (2) (A), (B), (D), (E) only
(3)  (A), (B), (C), (E) only (4)  (A), (C), (D), (E) only
Options :

92090687389. 1
92090687390. 2
92090687391. 3
92090687392. 4

Question Number : 48 Question Id : 92090622114 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Fofeiad 1 9 sgdie dd oF 8 87
A EIGHE

B. URH

C. ST Ulfeis

D. UiREadiid dd

E. SHMH

At feu T fasedl & 9 98l I I -

(1) HddB,C, D,E (2) &FAAA, B D, E

(3) AW A, B, C E (4) FAAA C D, E
Options :

92090687389. 1
92090687390. 2
92090687391. 3
92090687392. 4

Question Number : 49 Question Id : 92090622115 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

To enhance the existing populations of biodegrading micro-organisms, specific
microbes are added to sml. This process 15 called -

(1) Bioaccumulation (2) Bioaugmentation
(3}  Bioconservation (4) Biloengineering
Options :

92090687393. 1
92090687394. 2
92090687395. 3
92090687396. 4

Question Number : 49 Question Id : 92090622115 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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uid A GeH ofld &1 faemE S=En 92 $ice ga1 # Ay gan oitgl &1 aiferd faa
SITdl 8, 98 UshH Hedrdl &

(1) vigH= (2) Sida
(3)  GIgEIE (4) Az
Options :

92090687393. 1
92090687394. 2
92090687395. 3
92090687396. 4

Question Number : 50 Question Id : 92090622116 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

At the surface of the sea (awr-water interface), 1s the microbial habitat referred to as

the

(1) Neuston (2) Pleuston

(3) Benthos (4) Episton
Options :

92090687397. 1
92090687398. 2
92090687399. 3
92090687400. 4

Question Number : 50 Question Id : 92090622116 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

HHE ! Tde (@g-o1d-3{d:-Hde) W, Y&H Siid &1 31dg ¢ [y =19 8 §H1 olrdl 82

(1) ¥4 (2) Wi
(3)  dYE (4) TR
Options :

92090687397. 1
92090687398. 2
92090687399. 3
92090687400. 4
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Question Number : 51 Question Id : 92090622117 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Method of phvlogenetic analvsis of bacteria based on DNA frapgments encoding their
165 rRNA 15 called as

(1)  Mult: Locus Sequence Typing (2) Fatty Acid Analvsis
(3)  Ribotyping (4) rep-PCR
Options :

92090687401. 1
92090687402. 2
92090687403. 3
92090687404. 4

Question Number : 51 Question Id : 92090622117 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IS U9 U [dEs & SUR W Sam]sii & IRR hardsd [99eyor $i @, o 165 IR TA U
&1 ¢ dg- gidl &, T8 I Hgaldl o7

(1) o8 $= 4Jddl 94 (2) TH I [Tyl
(3)  SleIF 4) Rudiefed - diwdfiem
Options :

92090687401. 1
92090687402. 2
92090687403. 3
92090687404. 4

Question Number : 52 Question Id : 92090622118 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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(iven below are two statements : One 15 labelled as Assertion (A) and the other 1s

labelled as Reazon (R) :

Assertion (A): Pore spaces 1n surface =soils 18 an important factor in deciding
microbial density and distribution.

Reasons (H): Small pore necks protect resident bacteria from protozoal predation,

In the hight of the above Statements, choose the correct answer from the options given
below :

(1) Both (A) and (R) are true and (E) 1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 18 NOT the correct explanation of (A)
(3) (A) 15 true but (R) 15 false

(4) (A) 18 false but (R) is true

Options :

92090687405. 1
92090687406. 2
92090687407. 3
92090687408. 4

Question Number : 52 Question Id : 92090622118 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
41 3y A SR T R AWS gl HyA T §:
AP A - UF Hal d WHR, &1 Widl g9 AR [ & FuR &1 de@yu RS g
HRUIR : oY Tygad diar Farf oitam] &1 Uit & qR-yeam ¥ Wigd $3d g
IUE FHYHT & ST H, A 138 1 fawed! § § gl 3w A
(1) AMRREH Tl g dUTR, A DI Ul ARET ©
(2) ARRIATEE fFgR A IS TR TE B
3) AUSE fFgRIWAR
4) ATAE, IR

Options :

92090687405. 1

92090687406. 2

92090687407. 3
92090687408. 4
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Question Number : 53 Question Id : 92090622119 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following features distinguish Bacteria from Eukaryva?

(A) Membrane lipids
(B) Poly (A) tailling of mENA

() Cell structure

(I Plasmids

(£). Ribosomes

("hoose the correct answer from the options given below :

(1) (&), (B), (D), (E) only (2) (A), (C), (D), (E) only
(3)  (B), (), (D), (E) only (4) (A), (B), (C), (E) only

Options :

92090687409. 1
92090687410. 2
92090687411. 3
92090687412. 4

Question Number : 53 Question Id : 92090622119 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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Fafatad 7 9 319 9 fTgward g6 8 g i $1 favg $3dl g2

A, ol s

B. mRNA PTG (A) TS

C. IR Al

D. WIioHSY

£ IEdH

1< [SU 0 fadedl W ¥ Hel IR A4 :

(1) HddA,B,D,E (2) HAAA CD,E
(3) &ddB,C D, E (4) HdAA B C E
Options :

92090687409. 1
92090687410. 2
92090687411. 3
92090687412. 4

Question Number : 54 Question Id : 92090622120 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match Last I with Last 11;

List 1 List 11
(Microbe) (Natural habitat)
(A) Streptomyces (I) Agquatic habitat
(B) Influenza virus (II) Terrestrial Environment
(C) Spirulina (I1I) Sewage treatment
(D) Giardia (IV) Airborne pathogen

(Choose the correct answer from the options given below:

(1) (A)-(IV), (B)-(11D), (C)-(11), (D)-(1)
(2)  (A)-(V), (B)-(I), (C)-(1L), (D)-(111)
(3)  (A)-(LLD), (B)-(IV). (C)-(1I), (D)~(I)
(4)  (A)-(D), (B)-(IV). (C)-(I). (D)-(11I)
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Options :

92090687413. 1
92090687414. 2
92090687415. 3
92090687416. 4

Question Number : 54 Question Id : 92090622120 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T | BTG 11 & [y GHICT PIToIT:

l-| T -1
(SitaTay) (TP MaT)
(A) ¥EHZY () ey siftam
(B) SURUGT (1) it qaiaRo
(@I IFING! (1) HeTord 2
oy TrsmSh (V) argafad INTares
419 138 1 fasei 1 9 9gl I gt
(1) (A)-(IVY, (B)-(1HE), (C)-(H), (D)-(1)
(2) (A)-(1V), (B)-(1), (C)-(I), (D)-(111)
(3) (A)-(I1), (B)-(IV), (Q3-(11), (D)-(1)
(4) (A)-(11), (B)-(IV), (C)-(1), (D)-(1N)

Options :

92090687413. 1
92090687414. 2
92090687415. 3
92090687416. 4

Question Number : 55 Question Id : 92090622121 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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In Ferns, the vascular stands of a dictyostele are called as

(1) Telomes
(2) Meristeles
(3y Pith

(1)  Trabeculae

Options :

92090687417. 1
92090687418. 2
92090687419. 3
92090687420. 4

Question Number : 55 Question Id : 92090622121 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : ()

Correct Marks : 4 Wrong Marks : 1

A ¥ fefeeafed & Hag 9qa #1 Heard 87

(1) <Ay (2) HREH
(3) My (4) coFgE
Options :

92090687417. 1
92090687418. 2
92090687419. 3
92090687420. 4

Question Number : 56 Question Id : 92090622122 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Nematodontous peristomes are found in

(1) Funara (2}  Bryum
(3) Marchantia (4) Polytrichism
Options :

92090687421. 1
92090687422. 2
92090687423. 3
92090687424. 4
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Question Number : 56 Question Id : 92090622122 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) AR (2) W
(3) e (4) UrdifeaH
Options :

92090687421. 1
92090687422. 2
92090687423. 3
92090687424. 4

Question Number : 57 Question Id : 92090622123 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

According to telome theory, which one of the following processes accounted for the
shifting of sporangia to ventral surface of leaft in ferns?

(1)  Overtopping (2) Planation
(3) SYNFeNnesls (1) Inecurvation
Options :

92090687425. 1
920900687426. 2
92090687427. 3
92090687428. 4

Question Number : 57 Question Id : 92090622123 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time :

Correct Marks : 4 Wrong Marks : 1

diam fagia & oFuR FHufalEag 0 @ &= |1 uftar qui § |Rg &1 gkl & Ig3ad &
R YRR & fore IwRed! gl g2

(1) IATHHT (3Taerfdm (2) wWHYAE

(3) e @) (4) SABAA (SdH )
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Options :

92090687425. 1
92090687426. 2
92090687427. 3
92090687428. 4

Question Number : 58 Question Id : 92090622124 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Arrange the taxonomic categories of wheat in descending order :
(A) Monocotyledonae
(B) Anglospermae
(C) Poaceae
(D) Poales

(E) Triticum

Choose the correct answer from the options given below :

(1) (E), (D). (C), (B), (A) (2) (A), (B), (C). (D), (K)
(3) (B), (A), (D), (C), (E) (4) (A), (C), (D), (B). (E)
Options :

92090687429. 1
92090687430. 2
92090687431. 3
92090687432. 4

Question Number : 58 Question Id : 92090622124 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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g &1 afffe g Afordl &1 sraie! HH H Haiyd HIfHT:
A, HHAMPICTSHI

S (i [ 22

419 feu U fasreat | 9 gel 3R g -

(1) EDCBA (2} A, B C D E

(3} B.A D CE 4 ACDBE
Options :

92090687429. 1
92090687430. 2
92090687431. 3
92090687432. 4

Question Number : 59 Question Id : 92090622125 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

(iiven below are two statements: One 1s labelled as Assertion (A) and the other 1s
labelled as Reason (H) :

Assertion (A) :  The gymnosperms are plants in which the ovules are not enclosed by
any ovary wall and remain exposed, both belore and after
fertilisation.

Reasons (R): Common examples gyvmnosperms are Psilotum and Lycopodium.

In the light of the above Statements, choose the correct answer from the options given
below:

(1) Both (A) and (R) are true and (R) 15 the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 15 NOT the correct explanation of (A)

(3) (A) 15 true but (K) 15 false

(4) (A) is false but (R) is true

Onbtions :
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92090687433. 1
92090687434. 2
92090687435. 3
92090687436. 4

Question Number : 59 Question Id : 92090622125 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
A MY A SR T R TS &1 pyF AT E:
HHFYT A :  3AGd Sl UGy UF UTEY gid § ford srus fhdt srusterg i 9 Tgd el
grd 3R 18 gd R uyrd S feufadl F I=id 81 8
HRUR : 3T diell & ey JHFY Ioreol J Ridied ik ageaifesay i |
SUad HYAT & Tl |, 19 i 1 fawedt 7 ¥ 98t S g
(1) AR RCH Hal s dylR, A Dl Hol AR &
(2) ARREA 9ElE, fbq R AP HEl urem el 8
(3) AWUelg, fhgRed e
(4) ATdAE, PR e
Options :
92090687433. 1
92090687434. 2

92090687435. 3
92090687436. 4

Question Number : 60 Question Id : 92090622126 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(:iven below are two statements:

Statement 1 ;' 1AA 1s transported from cell to cell and the transport 18 unidirectional
(polar).

Statement Il :  Auxins induce the adventitious roots on cuttings and inhibit the leaf
and fruit absecission.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both Statement | and Statement 1l are correct
(2) Both Statement I and Statement 1l are incorrect
(3) Statement [ 1s correet but statement 1l 1s incorrect
(4} Statement | 18 incorrect but statement 11 15 correct
Options :
02090687437. 1
02090687438. 2

92090687439. 3
92090687440. 4

Question Number : 60 Question Id : 92090622126 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FYT| - 35 U U H URaed Us HIET ¥ T SIS § 8a1 § 3R g8 uRag i
fesitg (gt gan B

HYT 1. I IS Jd 1 Fels dld -HE W UG & € 3R T 3R Bl &
uwsg &1 9RRIY &d B |

Judad HYEl & el J, A 38 T fawedt 7§ 4 wedl I g
(1) Y| R FYF 11 S g &

(2) Y| AR BYF I S TAd ©

(3) HYT19ele, [P HYT17Tad e

(4) HYFI7Tad e, g FYF I HE

Options :
92090687437. 1
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92090687438. 2
92090687439. 3
92090687440. 4

Question Number : 61 Question Id : 92090622127 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are correct?

(A) In CAM plants the fixation of CO: to phosphoenolypyruvate to form
oxaloacetate occurs at night.

(B) In photosystem I the special chlorophyll, the molecules of reaction centre are
known as Pesso.

(C) During photosynthesis manganese 18 an essential co-factor for oxyeen evolving
mechanism,

(D) The leaves of C, plants are characterized by Kranz anatomy.

(E). (4 plants are more efficient utilizers of OO than C; plants.

Choose the correct answer from the options given below:

(1) (B) and (K) only (2} (A), (B) and (C) only
(3) (A), (C), and (D) only (4} (D) and (K) only
Options :

92090687441. 1
92090687442. 2
92090687443. 3
92090687444. 4

Question Number : 61 Question Id : 92090622127 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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fFrafafad # 8 &9 4 $y9 Ugl 87

A, CAM UIGU H BIERITAIAUIREde H CO, &1 TS g1 & oAe wowasy Id |
Jigoramdiee &1 FAH ga g

B. UPRIdd- | ¥ AU eliacas, ufafssar &= & 303l B Peso HET 91T 61

HRE §

D. UIgY (C, Wii7) ®1 Ui, &ia TrerH I I (diaege) &1 ol e
E.  C,UIgY &1 HU&THd C: UTGU, CO, &1 H¥d & (FXerdn ¥ IudH Hid ¢

A 1du T fasedl H | Hel 3T gAY -

(1) $daB 3RE (2) &dd A B3R C
(3) PddA,C 3RD (4) HIADMRE
Options :

92090687441. 1
92090687442. 2
92090687443. 3
92090687444. 4

Question Number : 62 Question Id : 92090622128 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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Match Last [ wath Last 11 -

Last 1 List 11
(Bacteria) (=hape)
(A} Coccus (I) Rod-shaped
(B) Bacillus (II}) Comma-shaped
() Vibrium (I11) Spherical
(D) Spirillum (IV) Spiral

Choose the correct answer from the options given below:

(1) (A)-(D), (B)-(1D), (C)-(1L), (D)-(IV)
(2)  (A)-(LD). (B)-(1LL), (€)-(1), (D)-(1V)
(3)  (A)-(IV), (B)-(111), (C)-(11), (D)-(1)
(4) (A}, (B)-(1), (C)-(11), (D)-(1V)

Options :

02090687445. 1
92090687446. 2
92090687447. 3
92090687448. 4

Question Number : 62 Question Id : 92090622128 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

w1 Ty w1 Py gAR SR

11 (STtaToy) T I (DR
(&) DAY () S D AHHR &I
B) SR (1) BHE AP DI
() Taferan (1) TATHR
(D) Rufew (v) affd
i3 fod 7 faeedt A | 98l I 9T

(1) (A)-(), (B)-(I1), (C)-(N1), (D)-(IV)
(2) (A0, (B)-(1), (C)-(1), (D)-(IV)
(3)  (A)-(IV), (B)-(1), (C)-(11), (D)-(1)
(4)  (A)-(), (B)-(1), (C)-(l), (D)-(IV)
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Options :

92090687445. 1
92090687446. 2
92090687447. 3
92090687448. 4

Question Number : 63 Question Id : 92090622129 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The high impact species whose removal from community affects persistence of other
species, and their impact 1s disproportionate to abundance are known as

(1) Umbrella species (2) Flagship species
(3) Exotic species (4) Keystone species
Options :

92090687449. 1
92090687450. 2
92090687451. 3
92090687452. 4

Question Number : 63 Question Id : 92090622129 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

3= Hud ard uslifaal o 9Her ¥ geM & URumM Wey o werfadl &1 Sifedd d &1
e UHIdd gl & 3R 3961 UHId digeddl & AU | 98] 8idl 8, U Hedldl 6

(1) 3fFdl Tl (2) SRR Wt
(3) Udallies WS (4) PI-TH WS
Options :

92090687449. 1
92090687450. 2
92090687451. 3
92090687452. 4

Question Number : 64 Question Id : 92090622130 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Which of the followmmg IUCN eategory 18 assigned when a species faces an extremely
high or very high risk of extinction in the wild in immediate or near future?

(1) CR — Cntically endangered species
(2) NT — Near threatened species
(3) VU — Vulnerahle species

(4) Extinct species

Options :

92090687453. 1
92090687454. 2
92090687455. 3
92090687456. 4

Question Number : 64 Question Id : 92090622130 Question Type : MCQ Option Shuftfling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

o4 Sl &1 SFHTd 7 3yal Fde uiasy ¥ faqaum 89 &1 980 «iffe @aw g g af
3% 315 4 9 v & by guft A T@1 S 82

(1) 4l 3R - pifded 9 I shifgwuw usifd
(2) T2 - W U Ullid

(3) A1y gud (GHe) U
(4)  Toqw Wi

Options :

92090687453. 1
92090687454. 2
92090687455. 3
92090687456. 4

Question Number : 65 Question Id : 92090622131 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s the key fauna in the Gulf of Mannar biosphere reserve for
in-situ conversation of biodiversity in India ?

(1) Indian Wild Ass (2} Dugong or sea cow
(3) Snow leopard (4) Nilgiri — Tahr
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Options :

92090687457. 1
92090687458. 2
92090687459. 3
92090687460. 4

Question Number : 65 Question Id : 92090622131 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRd H W-®F oid fafdudr & i A9R o1d #8d ovaRvyg & |rst A FHifed # 9 11 ugd
&2

(1) HRA™TITg (2) ST OT GGl T (3 &)
3y fBwdgsn @ dus) (4) Al ar
Options :

92090687457. 1
92090687458. 2
92090687459. 3
92090687460. 4

Question Number : 66 Question Id : 92090622132 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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Arrange the following Taxonomic groups in the decreasing order of the number of
species described on the earth ;

(A)  Vascular plants

(B) Insects

(C) Fungm
(DY  Algae
(E) Fish

(Choose the correct answer from the options given below:

(1) (A), (B), (C), (D), (k)
(2)  (B), (4), (C), (D), (E)
(3)  (E), (D), (C), (B), (A)
(4)  (C), (D), (E)., (A), (B)

Options :

92090687461. 1
92090687462. 2
92090687463. 3
92090687464. 4

Question Number : 66 Question Id : 92090622132 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gedl T aftld uenfadt @1 e & god H # Hgifed afifet aug! @1 ogafyd sifsg

A.  Wdlel Ulgy

B. I

C. FdF

D. Y4

E "™

(1) A BCD,E (2) B,A CD,E
(3) ED,CBA (4) C,D,E A B
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Options :

92090687461. 1
92090687462. 2
92090687463. 3
92090687464. 4

Question Number : 67 Question Id : 92090622133 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

(iiven below are two statements:

Statement [ :  Pteridophytes are the first terrestrial plants to possess vascular
L155ues.

Statement 1l ;' The common examples of ferns are Funaria and Sphagnum.

In the hght of the above Statements, choose the correct answer from the options given
below:

(1) Both Statement | and Statement 1l are true
(2) Both Statement | and Statement 1l are false
(3) Statement | is true but statement 11 1s false

(4) Statement | 1s false but statement 11 15 true

Options :

92090687465. 1
92090687466. 2
92090687467. 3
92090687468. 4

Question Number : 67 Question Id : 92090622133 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A4 & Sy 30 1 §:

U | : RSB Hdgd Hddi arel UUH RGN Urey g |
BUA 1| ;. HANRG! SR TpyH, guiiil & JH I8 & |
Juddd HYH1 & 3MTeie |, A &g 70 fawedl # ¥ 98 IW gAT
(1) BYT | R BY || S TS B

(2) &Y AR BYA || SF T B

(3) FYF19eie fg®HyaTad e

(4) HYFI7Ad 8, [P YT el e

Options :

92090687465. 1
92090687466. 2
92090687467. 3
92090687468. 4

Question Number : 68 Question Id : 92090622134 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(iiven below are two statements: Une 15 labelled as Assertion (A) and the other is
labelled as Reason (R):

Assertion (A) : BSome species of Katvdids (or Busherickets) resembles with complete
leaf or appears to be a part of leaf.

Reasons (R) : Katydids show camouflage as a behavioural strategy to avod
predation.

In the Light of the above Statements, choose the correct answer from the options given
below:

(1) Both (A) and (R) are true and (R) 15 the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 18 NOT the correct explanation of (A)
(3} (A) 1s true but (R) 1s false

(4) (A) 15 false but (R) 15 true

Options :
92090687469. 1

92090687470. 2
0INONARTAT1 2
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92090687472. 4

Question Number : 68 Question Id : 92090622134 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hie P YT A 3R dF R WS a1 By AW E:

HHPYF A - Hfefeg @ Ffhde) & F Uaiadl W U7 ¥ fAad Sad! & 91 O3t &7 39
Yeltd glcil 81

HRUIR : Hfcfeg WUeUr 9 g9 gd dEeiRe 91 & ¥4 # Fd9 Ueiid
HAT |

I HYEl & e |, A" G0 T fawed! 9 9 w8l IR g

(1) A SRRIH TEI§ aUI R, A I Tg! IS ¢

2) AdRREH TR e, [P R A P IS U 61 ¢

3) AYele fPgRITAAR

(4) ATEdS, FIRTEIE

Options :

92090687469. 1

92090687470. 2

92090687471. 3
92090687472. 4

Question Number : 69 Question Id : 92090622135 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Match List I with List 11 :

List 1 List I1
(Biographic Zone) (Biotic Provinces)
(A) Himalavan (I} Kutch
(B) Desert (II) North West Himalava
() Serm Arid (11} Punmjab
(D)) Western (zhats (IV} Malabar Coast

Choose the correct answer from the options given below:

() (A)-(D), (B)-(11), (C)-(111), (D)-(1V)
(2)  (A)-(L), (B)-(1), (C)-(ILD), (D)-(IV)

(3)  (A)-(IV), (B)-(111), (C)-(1D), (D)-(1)
(4)  (A)-(), (B)-(IV), (C)-(1), (D)-(1LI)

Options :

92090687473. 1
92090687474. 2
92090687475. 3
92090687476. 4

Question Number : 69 Question Id : 92090622135 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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T | P YT 1 & 1Y AR S

- = -
(A) TenTedl () FD
(B) HERT (1) IR-uigH fgamey
Q) Y IH (IR EIE!
(D) YigH! °Ie (V) HAER de

A R R s § A 98 IR 9T

(1) (A)-(1), (B)-(I1), (C)-(11), (D)-(IV)
(2) (A)-(11), (B)-(1), (C)-(I), (D)-(IV)
(3) (A)-(IV), (B)-(I), (C)-(11), (D)-(1)
(4) (A)-(11). (B)-(IV), (C)-(1), (D)-(li1}

Options :

92090687473. 1
92090687474. 2
92090687475. 3
92090687476. 4

Question Number : 70 Question Id : 92090622136 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following cell lines does not grow in suspension eulture?

(1) THP-1 (2) K562
(3) Uoa3T (4) AB49
Options :

92090687477. 1
92090687478. 2
92090687479. 3
92090687480. 4

Question Number : 70 Question Id : 92090622136 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Fofafaa ® § &7 1 S 921 Aded Jat | gfg 98 $ar 82

(1)  THP-1 (2) K562
(3) U937 (4) A549
Options :

92090687477. 1
92090687478. 2
92090687479. 3
92090687480. 4

Question Number : 71 Question Id : 92090622137 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Respiratory quotient 1s defined as

(1) Number of respiration per minute
(2)  Amount of energy produced as ATP during given period of time
(3) RHatio of amount of COs: produced to the amount of (s taken 1n
(4)  Ratio of amount of ATP produced to the amount of (2 used
Options :
92090687481. 1
92090687482. 2

92090687483. 3
92090687484. 4

Question Number : 71 Question Id : 92090622137 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
4T UITHT &1 Fgferrad 9 9 uRyitd fea o &:
(1)  UlaiiEe 499 & 9E
(2) Ved SINaiy & aRF ATP & ¥4 # JdIfed Fal &1 A
(3) TEUIHI TS O, B HEH IJAMUT CO, B AE &1 3Urd
(4) V& O, Pl AET Y IAMYT ATP I A FT U

Options :
92090687481. 1

-
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92090687482. 2
92090687483. 3
92090687484. 4

Question Number : 72 Question Id : 92090622138 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

some of the substances move out of the peritubular capillaries and are moved into the
nephron bv which process?

(1) Secretion

(2)  Absorption
(3) Reabsorption
(4  Filtration

Options :

920906874385. 1
92090687486. 2
92090687487. 3
92090687488. 4

Question Number : 72 Question Id : 92090622138 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafad ¥ 9 &9 ufsra gR1 &5 ugn uREfaeeR Sl § 98 3id 8 i A | 99
oiTd §7

(1) 34Ul (HT9) (2) SERIHOT
(3)  YHASEeIN (4) FredeA
Options :

92090687485. 1
92090687486. 2
92090687487. 3
92090687488. 4

Question Number : 73 Question Id : 92090622139 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Match Last I with Last I :

Last 1 List 11
(Anatomy term) (Definition)
(A) Bone (I) A fibrous protein
(B) Collogen (I1) Mature bone cell
(") Osteocyte (111) Blood cell production
(D) Marrow (IV) Minerahized connective tissue

Choose the correct answer from the options given below:

(1) (A1), (B)-(I1), (C)-(1), (D)-(IV)
(2)  (A)-(1D, (B)-(I), (C)-(IV), (D)-(111)
(3)  (A)-(IV), (B)-(11), (C)-(1), (D)-(111}
(4)  (A)-IV), (B)-(1). (C)-(11), (1)-(111)

Options :

92090687489. 1
92090687490. 2
92090687491. 3
92090687492. 4

Question Number : 73 Question Id : 92090622139 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1 D1 gl 11 P Gy GHICTd IO
- gt -

(A) MY (1) YRR UEH

(B) HIcioH (1) uRue s
(C) 3RO (111) & ST AT
(D) Wl (V) @EHAIdEge SHdd
14 0 T {9l 1 9§ Hel 3R AT

(1) (A=, (B)-(I), (C)-(I), (D)-(IV)

(2)  (A)=(H), (B)-(1), (C)-(IV), (D)-(li)

(3)  (A)-(IV), (B)-(I1), (C)-(1), (D)-(II)

(4)  (A)-(IV), (B)-(1). (C)-(I1), (D)-(II)

Options :

92090687489. 1
92090687490. 2
92090687491. 3
92090687492. 4

Question Number : 74 Question Id : 92090622140 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(s1iven below are two statements -

Statement [ : Apoptosis s a pro-inflammatory mode of cell death.

Statement Il :  During apoptosis inflammatory substances are released which alerts
other cells in the vicinity of dying cell.

In the hight of the above Statements, choose the correct answer from the options given
below :

(1) Both Statement 1 and Statement 1l are true
(2) Both Statement I and Statement 11 are false
51 Statement 1 is true but statement 11 1s false

(4) Statement 1 1s false but statement 1l 18 true

Onptions :

-
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92090687493. 1
92090687494. 2
92090687495. 3
92090687496. 4

Question Number : 74 Question Id : 92090622140 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CIEAR UEACORID S

HYF| : U SIS 5 & Usaa-iid UeH ¢ |

®HYF (| ;TS & SIA Saa-giid ugly Enfad gid € @1 §d $IRe & Adia! & 1
3 HIfRAH13 P TId B &

I Syl F e | Hd G0 T Gl 7 8 w8l Sk g

(1) HYFIARFYFIEH Hel e

(2) HUYF| AR DY | SHI Tad §

(3) HYFIFE e fbgHU= 11 TTad @

(4) ®YT|Tad B, fhg YT 1 HET 8

Options :

92090687493. 1
92090687494. 2
92090687495. 3
92090687496. 4

Question Number : 75 Question Id : 92090622141 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The first Jawed vertibrates (Placoderms), arose in which period?
(1) Cambrian
(2}  Ordovician
(3) Devonian
(4) Silurian

Options :

-
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92090687497. 1
92090687498. 2
92090687499. 3
92090687500. 4

Question Number : 75 Question Id : 92090622141 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1)  Hiemd 2) e
(3) =diiHgH (4) g

Options :

92090687497. 1
92090687498. 2
92090687499. 3
92090687500. 4

Question Number : 76 Question Id : 92090622142 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When phospholipid 1s added and shaken up with water, micelles may form. Which of
the following 15 true regarding micelles?

(1} Tiny spheres of lipids with hydrophobie tails outwards in contact with water

(2}  Tiny spheres of lipids with hyvdrophilic heads outwards in contact with water
(2) Tiny spheres of lipids with randomally arranged hvdrophobie and hydrophilie
heads

(4)  Tiny spheres of hpids with hydrophic heads away from water

Options :

92090687501. 1
92090687502. 2
92090687503. 3
92090687504. 4

Question Number : 76 Question Id : 92090622142 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
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Correct Marks : 4 Wrong Marks : 1

HIEBIads & Jd # gifoias 39 fedamar 9rda1 g a1 il 3ad 81 9ad ¢ lda & IR |

Fgifed ¥ | $F 91 HY- |81 2|

(1) 991 % g&d el fore! U@ Saarri 81d U are’ &1 3R oidl & 999$ § gl o

(2) TH & g i foraT R gl 81d 8U aTgY &1 3 9id & 9 § 8T 8|

(3) 99 & geH M o1 R Saeig! 9 Saani 81d € ok 4 gefass U 8 ogafud
gId €

(4) TP G&A Ta o RR Sreaerft gldar e 3R d Sa A g Wed o |

Options :

92090687501. 1
92090687502. 2
92090687503. 3
92090687504. 4

Question Number : 77 Question Id : 92090622143 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 15 the genetic material in Human Immunodeficiency Virus
(HIV)?

(1) DNA
(2) RNA
(3) Chromosomes

(4) DNA and RNA hybrid molecule

Options :

92090687505. 1
92090687506. 2
92090687507. 3
92090687508. 4

Question Number : 77 Question Id : 92090622143 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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01 UfcRen =g=ad fasm (g ors dY) &1 A1 ie Jrll @-fes fefae) oF |1 82

(1) ST (2) MRTAT
(3)  SIHNH (URE) (4) B1TF U 3R 3R TF U HHT 3]
Options :

92090687505. 1
92090687506. 2
92090687507. 3
92090687508. 4

Question Number : 78 Question Id : 92090622144 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Which of the following states is known for conservation of wild eitrus?

(1) Arunachal Pradesh (2) Manipur
(3) Meghalava (4) Sikkim
Options :

92090687509. 1
92090687510. 2
92090687511. 3
92090687512. 4

Question Number : 78 Question Id : 92090622144 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frofafad @ 3 fed Isg &1 S e @R o) & H&m & o S S g2

(1) 3FUmEd Uyl (2) AN
(3) HYTY 4) Fafewrn
Options :

92090687509. 1
92090687510. 2
92090687511. 3
92090687512. 4

Question Number : 79 Question Id : 92090622145 Question Type : MCQ Option Shuffling : No Is

NDunectinn Mandatnrv * Nn Calenlatar * Nane Reennnee Time * N A Think Time * N A Minimmnm

-
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Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Arrange the following 1 increasing order of land area :
(A) Africa

(B) Europe

(C) North and Central America

(1)) Oceania

() South Ameriea

(Choose the correct answer from the options given below :

(1) @< B)<()<(C)<d) (2) (A)<(C)<(B)<(E)<(A)
(3)  B)y=D)<(E)<A)<(C) (4) (D) <(E)<(C)<(B)<(A)

Options :

92090687513. 1
92090687514. 2
92090687515. 3
92090687516. 4

Question Number : 79 Question Id : 92090622145 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FrafafEd ®1 4a= & JRiel »H H sgaiyd Sif;

A.  S3TBIE]

B. U

C. TR Ud A HRH]

D. 3=

E.  CI&0T S

#3 fau o fawedl # & 98 IR A -

(1) A<B<E<C<D (2) A<C<B<E<A

(3) B<D<E<A<C 4 D<E<C<B<A
Options :

92090687513. 1

-
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92090687514. 2
92090687515. 3
92090687516. 4

Question Number : 80 Question Id : 92090622146 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Match Last [ wath Last 11 -

List 1 List 11
(Biosphere Heserves) (State)
(A) Agasthvamala (I) Assam
(B) Amarkantak (1) Odisha
((C) Manas (111} Madhya Pradesh
(D) Simialipal (IV) TamilNadu

(Choose the correct answer from the options given below:

(1) (A)-(1D), (B)-(1V), (C)-(11), (D)-(1)
(2)  (A)-(1V), (B)-(LLL), (C)-(D), (D)-(11)
(3)  (A)-(V), (B)-(111), (C)-(11), (D)-(1)
(4)  (A)-(I1D), (B)-(IV), (C)-(I), (D)-(1I)

Options :

92090687517. 1
92090687518. 2
92090687519. 3
92090687520. 4

Question Number : 80 Question Id : 92090622146 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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g | @ g 11 & ay gRfig PR

- T -
(A)  SATROHER () 3EH
(B) HHIdHcH (any  3fsEn
(C) HHFYH (1) HAUSE
(D) R (Iv) dHTg
44 130 A et § 9 Het IR 9T

(1) (A)-(l1, (B)-(V), (Q)-(I), (D)-(1)
(2)  (A)-(IV), (B)-(11), (C)-(1), (D)-(1I)
(3)  (A)-(IV), (B)-(IL1), (C)-(1), (D)-(I)
(4)  (A)-(HD, (B)-(IV), (C)-(1), (D)-(M)

Options :

92090687517. 1

92090687518. 2

92090687519. 3
92090687520. 4

Question Number : 81 Question Id : 92090622147 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : (
Correct Marks : 4 Wrong Marks : 1

Methanol, also referred as wood alechol, was mmitially produced

(1}  wia yveast derived fermentation of glucose

(2) by destructive distillation of wood

(3) by estertfication of 01l derived from plant source

(4)  wia fermentation of starch in Kernels of corn

Options :

92090687521. 1
92090687522. 2
92090687523. 3
92090687524. 4

@
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Question Number : 81 Question Id : 92090622147 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

HyAid, Sifds B8 Tepled i F1 STl g, UR™ | A 3§ fobw fafe grr Ianfad giar ure
(1) TS & [H0dq J o U & AredH

(2) HIE & el g g

(3)  UIEU HId Y LA dd & SeAH G

(4) HES & 7@ I H W (He) & fhvgd & ArEw 4

Options :

92090687521. 1
92090687522. 2
92090687523. 3
92090687524. 4

Question Number : 82 Question Id : 92090622148 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the coal types from lowesat to highest rank?
(A) Brown coal

(B)  Sub bituminous

(C} Hard coal

(1)) Soft coal

(Choose the correct answer from the options given below :

(1) (B). (A), (D), (C) (2) (B), (D), (A), (C)
(3)  (A), (B), (D), (C) (4) (A), (D)), (B), (C)
Options :

92090687525. 1
92090687526. 2
92090687527. 3
92090687528. 4

Question Number : 82 Question Id : 92090622148 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

T —
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Correct Marks : 4 Wrong Marks : 1
S & UBRI B FHadH ¥ I=TH Al & 1 § gafeyd S,
A, SI3H (M) HIga
B. Jafdgii—H Hiae
C. HoR Bl
D. HdAH HIgdl
A9 &g T faeedl § 9 98 I g -
(1)  B,AD,C (2) B,D,AC

(3) A BDC (4) A, DB C

Options :

92090687525. 1
92090687526. 2
92090687527. 3
92090687528. 4

Question Number : 83 Question Id : 92090622149 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Choose the correct statements :
(A) The pH of unpolluted natural rain water 15 ~5.6
(B) H:50, and HNO3z are predominat acids in acid rain
(C)  Acidie rainwater have pH less than 5.6
(1}  Acid rain affect monuments, buildings and so1l fertility

(Ky  Neutral pH of unpolluted natural rain water1s 7

Choose the correct answer from the options given below :

(1) (B), (C), (D) and (E) only (2) (B), (C) and (E) only
(3) (A, (B), (C) and (D) only (4) (A), (B) and (C) only
Options :

92090687529. 1
92090687530. 2
92090687531. 3

-
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92090687532. 4

Question Number : 83 Question Id : 92090622149 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A, 3UENT Uldhidd 991 ofd & pH ~5.6 Bl 6 |
B. HyS04 3R HNO: 37t a8 H UHd T 8ld & |
C. 37iig a8 ofd &1 pH 5.6 ¥ &H Il &1
D. e g9 WG] Yl a1 3R Jel Id3dl &1 uHifad &l 8l
E. 3G Uil aul S &1 ISR pH 7 81l 8

43 123 7 faeedi 7 9 9! fAeeu 91 -

(1) &ddB,C, D IARE (2) FddB, C3RE
(3) HddA B C3HRD (4) FIAA B IAHRC
Options :

92090687529. 1
92090687530. 2
92090687531. 3
902090687532. 4

Question Number : 84 Question Id : 92090622150 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(iiven below are two statements :

statement 1 ;. Liondon smog event was a suitable example of classical fog.

Statement 11 @ Classical fog 1s characterised by high concentration of unburnt
carbon soot as well as elevated levels of atmospheric sulfur dioxide.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1} Both Statement 1 and Statement 1l are correct
(2) Both Statement | and Statement 1l are mcorrect
(3) Statement 1 18 eorrect but statement 11 1s incorrect

(4) Statement | 18 incorrect but statement 11 1s correct

Options :

92090687533. 1
92090687534. 2
92090687535. 3
92090687536. 4

Question Number : 84 Question Id : 92090622150 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CIERARAICRE ORI DS

FUT| ;. Ted YHSHE URge] S St S IuYE I3 §

HYA I 3MGe Blad IS P Id WUl & HIY-H1Y agHSHT Heh ST5 SHa138 &l dgl
g1 TR M5y Bled 31 sfienafema 2|

Iuea Bl & s 1, 19 A T el 7 @ wd S 9T

(1) @Y | AR FYF | aH del e

(2) YA | 3R BYF (| SFHT Tad 8

(3) BYA | UL 8, b YA 1 TTed B

(4) ®YFITad e, PgFUA N8

Options :

92090687533. 1
92090687534. 2
920906875335. 3
92090687536. 4
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Question Number : 85 Question Id : 92090622151 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are NOT greenhouse gases”
(A) Ozone

(B) Water vapour

() Carbon monoxide

(Y Nitrous oxide

(E) Nitrogen dioxide

(hoose the correct answer from the options given below ;

(1) (A), (B) and (C) only
(2) (B). (C) and (1)) only
(3) () and (E) only

(4)  (A), (B) and (C) only

Options :

92090687537. 1
92090687538. 2
92090687539. 3
92090687540. 4

Question Number : 85 Question Id : 92090622151 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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Fafafad 7 9 $19 dHegray g 9 =481 82
A SIS

B. G Ay

D. HI3cH JHdSS

A o8 7 faped] § 9 98l I gia -
(1) HadA, B3R C (2) &ddB, C 3R D
(3) HAACIAHRE (4) HFAA, B3R C

Options :

92090687537. 1
92090687538. 2
92090687539. 3
92090687540. 4

Question Number : 86 Question Id : 92090622152 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(riven below are two statements : One 15 labelled as Assertion (A) and the other is

labelled as Reason (R) :
Assertion (A) :  Ozone in troposhere is referred to as bad ozone.
Reasons (H):  Fifty percent of ozone 18 troposphere 1s emitted directly from fossil

fuel combustion and rest comes from stratosphere.

In the light of the above Statements, choose the correct answer from the options given
below :

(1) Both (A) and (R) are true and (R) 15 the correct explanation of (A)

(2) Both (A) and (R) are true but (B) 18 NOT the correct explanation of (A)
(3) (A) 15 true but (R) 1s false

(4) (A) 1s false but () 1s true

Options :
92090687541. 1

-
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92090687542. 2
92090687543. 3
92090687544. 4

Question Number : 86 Question Id : 92090622152 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 3t yA A 3R db R AW 31 By G T 8-

HHPYT A - &HHSA T 9 91 I 36l B G@Ud S & 9 § 94 91 g |

HRUIR : sivHed H Uiy ufaerd Sisi- diE dik Oe Sifdred o g8+ ¥ Jofold
Bl & SR I 3fielH FHay Had ¥ o1l 81

JUdad FYT & A1l |, A 84 13 fas el # 4 "8t I g

(1) A SRRGH H8l 8 dYTR, A &1 Y&l AR 8

2) ASIRRGH 42 € <R, A F1 ul RS AT @

3) AWEIE FIRIEAR
(4) ATEAE, FgrRUTEE

Options :

92090687541. 1
92090687542. 2
92090687543. 3
92090687544. 4

Question Number : 87 Question Id : 92090622153 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Whach of the following is not a criteria air pollutant under National Ambient Air
Quality Standards?

(1) Ozone (2)  Carbon monoxide
(3) Carbon dioxade (4) Sulfur dioxide
Options :

92090687545. 1
92090687546. 2
92090687547. 3
92090687548. 4
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Question Number : 87 Question Id : 92090622153 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P afaw arg TUidT A & Sfid (9 H @ B ded a1 UgNS el o7

(1) S (2) BT A HFAES
(3) TS STRRIES (4) TR SEIATRIZS
Options :

92090687545. 1
92090687546. 2
92090687547. 3
92090687548. 4

Question Number : 88 Question Id : 92090622154 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following bacteria are involved in nitrification process in nitrogen cycle?
(A) Pseudomonas
(B) Nitrobactor
((C) Nitrosomonas

(D)} Bacillus

("hoose the correct answer from the options given below :

(1) (A) and (B) only (2} (A) and (C) only
(3) (C)and (D) only (4) (B) and (C) only
Options :

92090687549. 1
92090687550. 2
92090687551. 3
92090687552. 4

Question Number : 88 Question Id : 92090622154 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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qIgcTa 9 | Ageieul Ufshar A e dee i Fufaea d 9 a= 8 87

A, IMHHAM

C. RN

D. ey

Fr e o fawedi § 9 wel I ghg -

(1) Pdd A 3R B (2) HATASRC
(3) HAAC AR D (4) &dd B3R C
Options :

92090687549. 1
92090687550. 2
92090687551. 3
92090687552. 4

Question Number : 89 Question Id : 92090622155 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Within the dissolved fraction, imnorganic P (dissolved inorganic phosphorous) occurs as

(1) Metaphosphate (2) Pyrophosphate
(3)  Orthophosphate (4) Organic Phosphate
Options :

92090687553. 1
92090687554. 2
92090687555. 3
92090687556. 4

Question Number : 89 Question Id : 92090622155 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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E_\IFIT %z

(1)  HTHIEET (2) UISIBIERT
(3) 31yl BT (4) FlEHE BlEbe
Options :

92090687553. 1
92090687554. 2
92090687555. 3
92090687556. 4

Question Number : 90 Question Id : 92090622156 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

All forms of mercury are potent toxin. Which form of He 1s most readily absorbed and
bioaccumulated?

(1) Hg! (2) Hg"
(3) Hg+- (4) MeHg
Options :

92090687557. 1
92090687558. 2
92090687559. 3
92090687560. 4

Question Number : 90 Question Id : 92090622156 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

TR (UR) & 9 w0 wiEswrel sfdy g1d € | Hg &1 &9 91 ¥4 gaifas ivd yde
fadidd SN oid Haidd gid1 g7

(1)  Hg" (2) Hg"’
(3) Hg*™ (4) MeHg
Options :

92090687557. 1
92090687558. 2
92090687559. 3
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92090687560. 4

Question Number : 91 Question Id : 92090622157 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Measure of the minerals and salts that can be dissolved 1in water 18 referred to as

(1) alkabhmty (2} turbidity
(3) salinity (4) acidity
Options :

92090687561. 1
92090687562. 2
92090687563. 3
92090687564. 4

Question Number : 91 Question Id : 92090622157 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ool H [qafdd 63 91 9 aret @l 3R d9ull @1 AT Fgdrdl e:

(1) &R (2) fifderd
(3) dUrdl (4) &I
Options :

92090687561. 1
92090687562. 2
92090687563. 3
92090687564. 4

Question Number : 92 Question Id : 92090622158 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Human ear normally hears sounds originating from the vibrating objects with a
frequency between

(1) 2 and 2000 Hz (2) 2 and 20,000 Hz
(3) 10 and 20,000 Hz (4) 20 and 20,000 Hz
(Intions
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92090687565. 1
92090687566. 2
92090687567. 3
92090687568. 4

Question Number : 92 Question Id : 92090622158 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

AT IR R 7™ & &1F Fafafaa 7 9 feg emeft W (39) el 3o a9 34 &2

(1) 2 3R 2000 Hz & & (2) 2 3 20,000 Hz & &I
(3) 10 3R 20,000 Hz & di9 (4) 20 3R 20,000 Hz & 99
Options :

92090687565. 1
92090687566. 2
92090687567 3
920906875638. 4

Question Number : 93 Question Id : 92090622159 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Measure of mass of water vapour for a given mass of dry air (in g/kg) 1s referred to as

(1)  Absolute humidity (2) Relative humidity
(3) Mixing ratio (4) Specific humadity
Options :

92090687569. 1
92090687570. 2
92090687571. 3
92090687572. 4

Question Number : 93 Question Id : 92090622159 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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g @ | ®F, Od a8 & SoqdF 3R Yoh a1 & SodH DI 3UTd (g/kg T) ©7

(1) FARue smsar (2) wrgal e
(3) A% 3Fud (4) TafRmw amdar
Options :

92090687569. 1
92090687570. 2
92090687571. 3
92090687572. 4

Question Number : 94 Question Id : 92090622160 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following zones in a river stretch will have highest biological oxidation
demand?

(1) Seware discharge entry point (2) Sewage decomposition zone
(3)  Septic zone (1) Top surtace above decomposition zone
Options :

92090687573. 1
92090687574. 2
92090687575. 3
92090687576. 4

Question Number : 94 Question Id : 92090622160 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafeiad # 9 721 & [y &3 1 9fd® e |it 9aiivs gihf?
(1)  aifgd \d fage udw fo=g
(2) W 3I9eA &3

(3) WY® &
(4)  3UYed &9 & HW il SHUI Hde

Options :
92090687573 1
92090687574. 2
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92090687575. 3
92090687576. 4

Question Number : 95 Question Id : 92090622161 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(ziven below are two statements @ One 1s labelled as Assertion (A) and the other 1s
labelled as Reason (R) :

Assertion (A) : Catalvtic convertors are used 1n vehicles to reduce air pollution.

Reasons (R) : Catalvtic convertors reduces particulate matter in tail end emissions
of vehicles.

In the light of the above Statements, choose the correct answer from the options given
below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (B} 18 NOT the correct explanation of (A)
(3) (A) 18 true but (R) 15 fal=e

(4) (A) 1s false but (R) 15 true

Options :

92090687577. 1
92090687578. 2
92090687579. 3
92090687580. 4

Question Number : 95 Question Id : 92090622161 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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i ey A 3R db R S & HyA G M g

HHBYT A ; IARD! ufddeh] &1 WGRT a8l # 91 UgHUl &1 HH H & fofu fa
mIGIG]

SRUIR  : oS! URads dig-l & sfdfds e § S0 uerd &l &1 S3dl g

SUeR HYAT & i H, 19 38 7 fdsed! d 9 wdl I g

(1) A SR REH el g aUIR, A DI TSI =T ©

(2) ASIRRIFHEE, R AP U w481 8

(3) A"l g, fP<IRd B

(4) ATdds, [PgRUSE

Options :

92090687577. 1
92090687578. 2
92090687579. 3
92090687580. 4

Question Number : 96 Question Id : 92090622162 Question Type : MCQ Option Shuftfling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
During municipal sewage treatment, biosolids are produced as a by-product of
(1) Primary treatment only

(Z)  DBiological (activated sludge) treatment only
(3} Chemical (phyvsicochemical precipitation of suspended sohids) treatment only

(4)  All three, primary, biological and chemical treatments

Options :

92090687581. 1
92090687582, 2
92090687583. 3
92090687584. 4

Question Number : 96 Question Id : 92090622162 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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ARud Sifgdrd e & R dTaed fHafaRea & Iuiarga 4 IUF g &
(1)  had WS AieF 9

(2) Had olidd (AieddaTds) My 9

(3) had TuEHS (Fdfad Sl & Wifde-Taraie Fegon e |

(4)  ule, Gifidd SR e, 9t JF A

Options :

92090687581. 1
92090687582. 2
92090687583. 3
92090687584. 4

Question Number : 97 Question Id : 92090622163 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match Liast 1 with Last 11 -

Last 1 List 11
(Instrumentation/Technigue) (Useful for)

(A) Hvbridization () Purification of biomolecules

(B) Confocal scanning microscope (I1I) Separation of proteins

(C) Western Blotting (I1I) Three-dimensional image

(D) Chromatography (IV) Location of complementary DNA

Choose the correct answer from the options given helow:

(2)  (A)-V), (B)-(111), (C)-(11), (D)-(1)
(3)  (A)-(1D), (B)-(IV), (C)-(1), (D)-(111)
(4)  (A)-(1I), (B)-(I), (C)-(1V), (D)~(111)

(1) (M-I, (B)-(IV), (C)-(1), (D)-(11)

Options :

92090687585. 1
92090687586. 2
92090687587 3
92090687588. 4

Question Number : 97 Question Id : 92090622163 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

1 | 1 gl 1| & 9y gHfdd Sifor:

-1 ([@iE®]/gEi) Tt -1 (39g)
(A)  HHIU] () o/ U BT LSBT
(B8) Ty whi gemasf () W Gy
(C) d%e sl () Aty fag
(D) TBIHERITHI (Iv) TR 31T U sy
19 fad 713 fasedl # 4 96l I g
(1) (A)-(11), (B)-(1\), (C)-(1), (D)-(ll)

)~
(2)  (A)-(IV), (B)-(I1), (C)-(11), (D)-(I)
(3) (A=, (B)-( IV), (C)-(1), (D)-(1N)
(4) (A0, (B)-(1), (C)-(1V), (D)-(li1)

Options :

92090687585. 1
92090687586. 2
92090687587. 3
92090687588. 4

Question Number : 98 Question Id : 92090622164 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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(xiven below are two statements:

Statement 1 : Accuraey i1s the degree of agreement between the measured value and
the accepted true value of the given parameter.

statement Il :  Determinate error are random 1n nature and occur when something
went wrong during the measurement.

In the hght of the above Statements. choose the correct answer from the options given
below:

(1) Both Statement | and Statement 1l are true
(2) Both Statement | and Statement 11 are false
(3) Statement | 1s true but statement 11 15 false

(4) Statement I 1s false but statement 1l 1s true

Options :

92090687589. 1
92090687590. 2
92090687591. 3
92090687592. 4

Question Number : 98 Question Id : 92090622164 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HY | . URYEAr Wiftd A AR 34 T uEd & Wie dadfde 3F & |" g B
i

&Y 11 Fulke I ugfaa: aefass gidl € U1 98 94 9fed gidl ¢ od HI9- & GRE 59
T g1 Srdl ¢ |

SuYeRd Byl & el H, i i3 T fdsei # 9 wgl I g

(1) DY 3R IYTITH el e
(2) FHYTIRFYTUSH Tad &
(3) YT I1Tele fpgsyaTad e
(4) HYTITed 8, fhg FuT 11 TEl ©

Options :
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92090687589. 1
92090687590. 2
92090687591. 3
92090687592. 4

Question Number : 99 Question Id : 92090622165 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Choose the incorrect statement about Atomic absorption spectrometer:
(1) It requires hollow cathode lamp

(23 It follows Beer-Lambert law
(3) It 18 based on absorption of monochromatic beam of light by atoms

(4) It requires only coloured solution for analysis

Options :

92090687593. 1
92090687594. 2
92090687595. 3
92090687596. 4

Question Number : 99 Question Id : 92090622165 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
TRHTUGE TN W HHAT & JaH 7 0y HYA &1 gHT:;
(1) SHH EREd $UTS oW S adhdl 8l &
(2) Yg dig-orge Fom &1 SR Sdl ©
(3) U8 AU gRT UHTY & Ueh quft {01 & @iy o 3nenfyd gidi @
(4) 397 Had fageryor g 311 faega &1 srazgsar gidl 8
Options :
92090687593. 1
92090687594. 2

92090687595. 3
92090687596. 4

Question Number : 100 Question Id : 92090622166 Question Type : MCQ Option Shuftling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Average salimity of sea water 1s

(1) ~0.035% (2) ~0.35%
() ~3.0% (4) ~35%
Options :

92090687597. 1
92090687598. 2
92090687599. 3
92090687600. 4

Question Number : 100 Question Id : 92090622166 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g ofd &1 f9d ddurdl gial e

(1)  ~0.035% (2) ~035%
(3) ~3.5% (4) ~35%
Options :

92090687597. 1
92090687598. 2
92090687599. 3
92090687600. 4
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